P - KRAmE A—_R 2022128 &R
4 4
5/|| O #F | O #kHHh 5
35 50

6| O #edgth| O K= | O K= | O H= = 6
4 17 32 46 56

71| O K= | O ®%EE| O H= | O #F | O K= 7
0 12 24 36 49

8| O ®EE| O K= | O ®EE| O BE | O K= 8
1 13 26 40 55

9/| O BE | O K= | O AE | O K= 9
10 25 40 55

10| O B | O K= |[Ox H=-R| O K= 10
12 25 40 55

11| O B | O K= | O AE | O K= 11
10 25 40 55

12/| O BEE | O K= |[ox E-R| O K= 12
10 25 40 55

13]| O B | O K= | O AE | O K= 13
10 25 40 55

14| O BEE | O K= |[ox E-R| O K= 14
10 25 40 55

15/| O B | O K= | O AE | O K= 15
12 25 40 55

16| | O ZEE |Ox ®R-R| O BE | O ZAE 16
10 25 40 55

17|| O BEE | O K= | O ZEE | O ks 17
10 25 39 52

18| | O ZBE | O #HEAth| O #EAth| O #HEAHh 18
8 24 39 53

19| O ZBE | O #HEAth| O #HEAth| O #HBAHh 19
10 24 39 53

20/ | O #FAh| O #HEAH|OX BZR 20
9 25 41

21| O #HEAh|Ox RZR| O HEE| O #kH 21
1 14 29 45

22| O #EAth| O #HEAH| @ #HEAH| O FZR 22
1 14 33 49

23| | O HEA| O =R RIAREE RZR 23
2 15 33 48

24 TR R 24
8 26

BZEIISHEA

R XE R PE
H=([I R =2
KZERAHF=EpE
OB -RCTHEBHAICES
O IHATEAEFAICER

OQIFAETEE R ICHES
K (IR R THF A EOEBETHH




